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DSO = (Dn/Sn, n-1) * 60 days

DSO = (D4/84, 3) * 60 days
DSO = (D4/200,000,000 + 1 10,000,000) * 60 = 60 days
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D4= (310,000,000 * 60)/60 = 31 0,000,000 L.S
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(200,000,000 + 1 10,000,000+I04,000,000+80,000,000) - 310,000,000= 184,000,000
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DSO = (Dn/Sn, n-1, n-2) * 90 days
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DSO = (D4/84, 3, 2) * 90 = 60 days
DSO = (D4/200,000,000 + 1 10,000,000 + 104,000,000) * 90 = 60 days
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(200,000,000 + 110,000,000+104,000,000+80,000,000) - 276,000,000= 218,000,000
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200,000,000 + 106,451,612.9 = 306,451,612.9 L.S
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D4= (414,000,000 * 60) /90 = 276,000,000 L.S
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X2= 100,000,000 / 100,000,000 = muh a $ada / wnt-m!‘ Gis g saaeX2
X3= 44,000,000 / 60,000,000 = 0.73 A5l 5 geadll / il J 5 ¥1X3
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Z=1.042(0.03) + 0.42(1) - 0.461(0.73) — 0.463(0.9) +0.271(2)
7=0.0521 + 0.42 - 0.3365 - 0.4167 + 0.542 = 0.26
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/34 10,000 = 1,000,000 =/30,000,000,000
Y= \J — = 28,891.29 + 50,000 = 78,891.29
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